1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

=
o
N

=
(@)

=

<
=

1072

[EEY

0.5

7000 GeV pp W+Jet
= L L B B =
— ] ] a5
- Filtered jet mass(CA(1.2), 150<p_<220, |y|<2.5) 13
L 1=
O
- e
— = Al
— Jdo
| —
— i
- P
3]
— —.=
= =
= ., =8
— ' a3
B CMS o
- Pythia 6.428 370 13
| 4 Pythia 6.428 373 | §
= --0-- Pythia 6.428 374 3%
- Pythia 6.428 375 s
- -~ Pythia 6.428 381 dc
| - ¥-- Pythia 6.428 382 18
— = un
- 45
| _|1 o
B ] (@]
| | | | | | | | ' | | | | | | | E
:l T T T T | T T T T | T T T I:
— —2
1
| —0.5
| " 1 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1
0 50 100

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


